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1. BEFEIRA
HEHARBEERIA 45, 000 70, 000 A 25,000
ASEIA 27,000 110, 000 A 83,000
S8 - FERKEASEIA 17,000 60, 000 A 43,000|E2814 2435
EHMEEASEIA 10, 000 50, 000 A 40,000(14
SEIA 10, 191, 000 11,676, 000] A 1,485,000
ESELEBIA 7,137,000 8,770,000 A 1,033,000|Ex&748 < =783
FHELEREBEIRA 39, 000 36, 000 3, 000|513
EHMEEREBIA 2,415,000 2, 870, 000 A 455, 000|554 (69m)
EEPRA 9, 336, 000 29,095, 0001 A 19, 759, 000
PMEREEIRA 3, 960, 000 20,970,000 A 17,010, 000
SURTTHLILA 1,980, 000 2,080, 000 A 100, 000|28150410F, 2210043 F, £ B 15¢12F
LEHERWA 1,380,000( 2,370,000 A 990,000|EE L E SN T FENOST
ASVI1IR A 0 7,220,000 A 7,220,000
PIVITIR A 0 8,500, 000] A 8,500, 000
FEESIA 600, 000 800, 000 A 200, 000 |2m=
FMTESEESMIA 840, 000 2,400, 000] A 1,560, 000
D URTTLIRA 500, 000 600, 000 A 100, 000|11#
LEEESIA 340, 000 300, 000 40, 000 |84
ASVITIR A 0 250, 000 A 250, 000
PIVITUR A 0 1,250,000 A 1,250,000
IBEFURA 645, 000 825, 000 A 180, 000
FREIRA 300, 000 300, 000 0|24t
DURTYLERXERA 158, 000 240, 000 A 82,000]34
LEFEESHXENRA 187, 000 160, 000 27,000 /44
ASVITER XXX A 0 125, 000 A 125,000
FREMEAIRA 531, 000 800, 000 A 269, 000
FLERULA 2,500, 000 2, 500, 000 0
D URT Y LHXEIRA 1,000, 000 1,000, 000 0160%3,5F, 70x 5%, 15x 6F
LEFESHXENRA 1,000, 000 1, 000, 000 0f160x3, 55, 0% 5%, 15x 65
FIITHIRA 100, 000 100, 000 0
XEwXE R) 400, 000 400, 000 Ofp27" yop" -aqvy34-
SRCEBER - BRI 860, 000 1, 600, 000 A 740, 000
FEmEBE R 860, 000 1, 600, 000 A 740, 000 |sm12460F, x—12:86+20F, BIRI20F
EEHEZIEEIA 80, 000 80, 000 0
BARAREIRA 0 0 0
WEEEFILA 0 1,062,000 A 1,062,000
WEIEIRA (A AHEIK) 0 1,062,000 A 1,062,000
HMILA 65, 000 124, 000 A 59,000
ZHFR 5,000 24,000 A 19,000
HMILA 60, 000 100, 000 A 40, 000wz
FEFEEFIAGT 19, 744, 000 42,217,000 A 22,473,000
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2. BEFEHIW
FEEXE 14, 581, 000 30, 782, 0001 A 16, 201, 000
FMESEREETH 5,921, 000 23,347,000 A 17,426, 000
SURTH LK 2,478, 000 2, 860, 000 A 382, 000| At &192F & £ Uik ERAINT AL
SEEESIH 2, 843, 000 3, 030, 000 A 187, 000| s #m528F 5 £ vt immIc0F 2T
ASV11ZH 0 8,657,000 A 8,657,000
PIVI1XZ 0 8,200, 000] A 8,200, 000
FEESXH 600, 000 600, 000 0
FRGERTEEEXL 7, 620, 000 6, 345, 000 1,275, 000
FREXE 3,120, 000 3, 500, 000 A 380, 000|e/sx730%, 25797 0-+ 200F
Fos4UmXEXL 420, 000 625, 000 A 205, 000 |7m112425%F, J-stagery7", 12¢10F
DURTYLBXEXH 750, 000 860, 000 A 110, 000|350, enf, seix 2
LEFESRXEIS 650, 000 760, 000 A 110, 000 |s00, enmr, g2
FIfTEEEXH 100, 000 200, 000 A 100, 000
EEHXERH 280, 000 400, 000 A 120, 000
PIVANY FTwHoXH 2,000, 000 0 2,000, 000
EF7—H4TIXH 300, 000 0 300, 000 |t:kRIDI-stagesiis, BEAERDT S 2 LA
ZTOMEEEZL 1, 040, 000 1,090, 000 A 50,000
FLEREEEEYTH 200, 000 300, 000 A 100, 000
BRI —BEEXH 240, 000 140, 000 100, 000|»—/x—1s&
EREMEZESXH 50, 000 50, 000 0
HRREHE I 350, 000 400,000 A 50,000
X7+ —5 LRBREXH 200, 000 200, 000 0
BEERH 7,613, 000 11,435,000 A 3,822,000
BEFLTH 1,320, 000 2,470,000 A 1,150,000|1% (&2% : %%, 5 : 5
BEHRGEIH 0 2,280,000 A 2,280,000
EEEMEXH 180, 000 460, 000 A 280,000[1% (&me - Hxm 5 5
REXBEXL 108, 000 330, 000 A 222,000|14 - @#hge, shHER
BIEEHZH 600, 000 600, 000 Olo= e 25 v £2E
HEMEBEXH 240, 000 400, 000 A 160, 000
FIRIEAE X H 400, 000 400, 000 Olsmmm waan wx ae—g
SEEXH 30, 000 30, 000 0
KEXLBEZH 240, 000 240, 000 0
EEAXZE 1, 386, 000 1,395, 000 A 9,000
HeBXH 268, 000 168, 000 100, 000|EATs4 hsEs, P AeERRL S it
HMEXH 50, 000 100, 000 A 50,000
ZHFHR IS 559, 000 550, 000 0, 000|s e, HEBHE, FERK RATREHE
RTFEXH 62, 000 62, 000 0lz7vy
AR 100, 000 100, 000 0
ERBEH 2,070, 000 1 850, 000 920. 000 ﬁy%ﬁnsoo;, VT U VER200F, 20kt
FEEEFRHE 22,194, 000 42,217,000 A 20,023, 000
FETEIZESE D) A 2,450,000 0| A 2,450,000
I #HEFHINZOE
1. & FEIRA
Y EEEREUA 0 3,600, 000] A 3,600,000
ERSEEHRSIMAIRA 0 0 0
AR L IE R E RS IR IRA 0 0 0
BIEHR 55| B EERIRA 0 3,600,000 A 3,600,000
REFEULAG 0 3,600,000 A 3,600,000
2. BEEHRZH
WEEERSZY 0 0 0
BEHAESI4EESBEIIH 0 0 0
BEFHRWE 0 0 0
BEEENZESRE B) 0 3,600, 0001 A 3,600,000
I BAFSEEHINZ DER
1. BAFEEEIIRA
B EBNRAET 0 0 0
2. BEEEY
BRI 0 0 0
B EBINEZEEE (0) 0 0 0
LMEAUNZTZEZE (A) + (B) + (C) -2, 450, 000 3,600, 0001 A 6,050,000
RTHARR IR T =58 6,977,626 3,377,626 3, 600, 000
RN EEE 4,527,626 6,977,626] A 2,450,000






